. S T4 IH=Fvvo
FG (T) series

0717 ROS5VTH BYUI—-IBRERIE

O —URHEZSIAHEETDIcH BRI ZEFTEDLLFLRE

UTeiERZAlREE LR LT '
OUT T — %7 S RICUTRBLERS> TV SO BREECTR |
MEERCEXT

OE IV YaDRAICKDYa—DAOSA XFDlcH. T—IDRA
BRI UEZEUIRIEDAIBE C Y (1 251 X8 &A2.5mm)

OF vy IRDDEBNERIFTTVWEIDCRELERER - T7J70—0O%
GO EIEET S

>
%i; *CEXIng
]
: -~
ﬁi . qiﬁ WEIO—7
9? F e
(=
9s

JK
” T HEEX hO—2
-1

$A
B

Qe

i

Ja—RHELEEA
(x7>ar)

4 25h6
430h7
Ko

N

iR
P

05",06" ¥ 3 —EUfFEBT & 08"10"12" ¥ 3 —WMfFEBTiE

FGT05/FG05 | 135|110 14| 9]37]50-70|110 |36-56

8 |12]|16]30| 5 |14|M12|M10| 42.5|41.3] 50|30°|4-M6 QUK 12| — |3-M6 QUK 12|58| 22 |265]| —
FGTOB/FG06 | 165 | 140 16|12 |40|50-70| 110 |36-56| 8 |12|15|30| 5 |14|M16|M10| 5756 |524| 64|30°|4-MBRUA 15| - |3-MB8RUX15|58| 37 [265]|156
FGT08/FG08 | 210 | 1702516 |56|50-70|120 |71-91| 8 |12/15|30| 5 | 18[M20[M12| 77.5|66.7| 104 |50°|6-M8 QL& 15]20°|6-M8QUA 15]60| 535| - | -
8 5
8 5

FGT10/FG10 | 254 | 220 |25 |16 |56 |50-70| 120 |71-91 12(15]30 24|M20|M16| 995 (85.7|140|50°|6-M8RLA 15]|20°|6-M8RLA 15|60| 765| - | =
FGTI2/FG12 1304 | 220 25|16 |56 50-70/ 120 |71-91 12/15]30 24 |M20|M16/124.5185.7{ 19050 |6-MB8 QUR 15|20°| 6-MB AUA 15601005 | - | -

B EERR «rcT: 2VM FG: VUM %1 Ya—E&30mmE %2 Ys—E&40mm

[ - RS — < LR  Ya—lr0 o -
Has =} BHEE—XYDN mas BigR 17v3/Ja- (2S/4XE Sy
¢?Ii.l?kjéf))uj @EEE k? . kg-m? ‘EYUYY ZI\D 7 ngg) E_d?:} nim CORETERE ?nm = RERVUYY
FGT05/F605 | 50 (510) / 75 (765) 4000 10.0712.0|0.0250.030| Y1020R/RE 8 2.0(204)*] 52 41 1 Y1020RE09SC
FGT06/FG0B | 60 (612) / 90 (918 4000 11.0713.0|0.045,70.050| Y1020R/RE 8 2R~ 78 41 1.5 Y1020REQ9C
FGT08/FG08 {120 (1224) /180 (1835) 3500 22.0,/24.0]0.13070.140| Y1020R/RE 8 55(561)%2 105 61 2 Y1020REQ9C
FTI0/F810 {120 (1224) /180 (1835) 3500 34.0,,36.0|0.290,70.310| Y1020R/RE 8 55(561)%2 150 61 2 Y1020RE09C
FBTI2/FG12 120 (1224) /180 (1836) 3000 46.0,,48.00.570,/,0.590| Y1020R/RE 8 55(561)*2| 200 61 2.5 Y1020RE09C
WISV oJa—=7vanTiEE
o § BRI REG]
10 ,, 10 34 N 30 52
3 L5 &
99 HH ¢ B SN
& @I
1 O o o ] 3
3 g
05", 06" ¥z —Fi% 08", 10", 12" Y= —Fi& soEenyILT




Finger Chuck
7Y ek

FG (T) series

J] Face clamping chuck, ideal for thin walled workpieces

@®Distortion is reduced by using face clamping on thin section
parts

@Using the aluminium rear body allows for high speed rotation,
thus saving machining time

@Jaws include equalising mechanism to securely grip parts
with variable thickness (Equalization amount/2.5 mm max)

@Through hole allows pneumatic accessories

*CE correspondence

Clamping stroke

JK
] ’ T Rotating stroke

Hl Dimensional Drawings
F G

A
B

AREE

i

Jaw is not attached
(Option)

FGTxx: 2-jaw FGxx : 3-jaw

z
M10 x 18 11,1010 © = 5 _95°
13
0 | 88 1)
11 4.1-0.1 LLL oS K “
14 8 Bolt width - 1 re—
fT Y
_ 1
th - ¢ -
: Foote SN
05", 06" jaw mounting part dimensions 08", 10", 12" jaw mounting part dimensions

(Jaw's shaft) (Jaw's shaft)

Dimensions
Model
FGTO5/FGO5 | 135 110(14| 9|37|50-70]110 |36-56

1215|130 14 M12|M10] 425 (41.3] 50|30° |4-M6screwdepth 12| — |3-MBscrewdepth 1258 | 22 [26.5] —

FGTOB/FG06 | 165 | 1401612 |40(50-70{110 |36-56 12|15/30 14|M16|M10| 57.5[524| 64 |30" |4-M8sorewdepth 15 — [3-MBscrewdepth 15|58 | 37 [265|15

18|M20[M12| 77.5|66.7| 104 | 50" |6-M8 screw depth 1520°|6-MB screwdepth 15|60 | 535] - | -

FGT10/FG10 | 254 | 2202516 |56 |50-70] 120 |71-91 12/15/30 24 |M20|M16| 995 |85.7| 140 | 50° |6-M8 screw depth 15]20° |6-MB screwdepth 16| 60| 765| - | =

8
8
FGTO8/FG08 | 210 | 1702516 |56 |50-70{120 |71-91| 8 [12]15|30
8
8

ool o1 o1 | o1

FGT12/FG12 1304 1220 12516 [56|50-70]120 [71-81 12115]30 24 M20 [ M16]124.5 185.7| 190 | 50° |6-M8 screw depth 1520° |6-M8 screw depth 15/ 601005 | — | -

M Specifications «FGT:2-jaw. FG: 3-jaw x1-Jaw length : 30mm 3%2-Jaw length : 40mm

Specs Max. Draw Bar Moment of

Clamping Grlppmg force

O pw’l‘ (,lzg;;:e Maxmﬁ;?eed Net Welght I,':erga I\é@t“cr:]rggrg e rﬂ(e ) |<1 B Maéiaergﬁfr:ng L?p‘%gﬁ‘aglh;vey Equahzmg aqty ngglslsgg?urng
FGT06 /7605 | 50 (6510) / 75 (765 4000 10.0712.00.025,/0.030| Y1020R/RE 8 2.0(204)*! 52 41 1 Y1020REQ9C
FGT08/FG0 | 60 (612)/90 (918 4000 11.013.0 |0.045/0.050| Y 1020R/RE 8 25(255)*1 78 41 1.5 |Y1020RE09C
FGT08/F608 120 (1224) /180 (1835)] 3500 22.0,724.010.130,70.140| Y1020R/RE 8 55(561)%2 105 61 2 Y1020REQ9C
FGTI0/F610{120 (1224) /180 (1835)] 3500 34.036.0|0.290/0.310| Y1020R/RE 8 55(B61)*2| 150 61 2 Y1020REQ9C
FETI2/FB12 120 (1224) /180 (1835)] 3000 46.0,,48.0|0.570,/0.590| Y1020R/RE 8 55(561)*2] 200 61 2.5 |Y1020REQSC

Hl Dimentional Drawings for Blank Jaws(Option) EIPPINEIEXGTDISS
25 30 52

10 10 34 ~
I
I NS 8
Q= | =
oS5 Ly — -
. & anl
g O o U g
(=] o
(] <
for 05", 06" for 08", 10", 12" Turbine housing

>onyg pasuenpy
QetUNUSZN




	FG(T) series

